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  Period____Date________________Newton's Method

Use two iterations of Newton's Method to approximate the real zeros of each function.  Use the provided

initial guess.
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Use Newton's Method to approximate the 

     

x-coordinates where the two functions intersect.
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For each problem, use Newton's Method to approximate the positive root.
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  Period____Date________________Newton's Method

Use two iterations of Newton's Method to approximate the real zeros of each function.  Use the provided

initial guess.
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Use Newton's Method to approximate the 

     

x-coordinates where the two functions intersect.
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For each problem, use Newton's Method to approximate the positive root.
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